IIHEIERE 20212022 FEF R - FHIE=HFFRIEAMES
R Fi% HARA: R I%
LR S A 2. aFiE: 3,02 ket K: 30 4t

P A AU AT TS, 2 DU TG MF, N F, AT, L MAN = S AU C B 0%
AN ( )
AV3 BT cya D3

3

2. (£i%) WK 1,{EHEABCD 535X ABEF ™ ,AB = 2BC = 4, 2ABE = 120°, M, N7} 5 &
BF, ACHY 5 IR ABYG 35 TLABEF T8 JE 45 FD, EC M. = M AL AFD — BEC , & 2 i 4
DA 1 BF it FIHAMN n~FHADF =100 ¢ )

A-FTHIABCD LV ABEF B.MN//1
C.HZEF 5 VI ADE fit s 1) f1 N 60° D.VUTH A& EABD ()4 MEER )R M #1148
A D
F
A1 B’ 2

3. (k) CHESR = {(x, x5, %) | x; ER i =1,2,-,n}(n > 1), LR LH 5T
A(alfaZ'"'Jan)iB(blbeJ""bn)iﬂ‘d(A'B) = ?=1|ai - bllvmu—FﬁJiﬁﬁiiEﬁﬁEG% ( )

A#iA(1,2,—1),B(4,6,2),lld(A, B) = 10
B.24n = 2, WCHR? E— i fEA ABCH 2 C = 90°,MI[d(4, 0)]? + [d(C, B)]? = [d(4, B)]?
C.%n = 30, CHR3 L — S, d(A,C) + d(B,C) > d(A,B)

D.#7A(0,0,0), B(4,4,4), % P(x,y,z) NR3 b — i, Hhx,y,z € Z,M3% & d(A,P) + d(B,P) =
d(A, B fPHE 125 4~

4. RS (x) = {11n_xx;'§ 0< 0'%523@ = kx 5REf )M GAZTA, BW S Hi /2|04 =

|OB|, 3 O ARG, M A S 0N

5.5 i 2 T I A SK A 5 K8 ay, ap, -+, an(n = 2,3,4, ) AnBir < F 505”.(Day +
Gy + a5 + -+ ay = 0;2)|as] + @] + |as| + -+ ag] = LAF h—A 3 Br a2
2021 Bﬁ“/ﬁﬂﬁﬁﬂ”{an}%ﬁi E@%%%&ﬁu,m\ua2021 =




In x

6. CRIREL f(x) = ax +—.
(1) # a=-1, KRE f(x) KIWRIES;
(2) %@i& f(x) ﬁ&%/l\z:ﬁag%%,ﬁ X1,X2, ﬁ.EEUg X1Xop > e.

7. CERWBMLL C:y? = 2px(p > 1) LI P(xo, 1) BIHIMILSS FOIBEDA 2
(1) Rz ¢ E;
(2) #AE(t,4) ek ¢ b, 45 D(0,2) MELZk | 5Lk ¢ 2T
A(x1, 1), B(x2, ) (y1 > 0,9, >0) W, M H 55 A KT x HixIFR, HZ AH 535
5HE OE,0B 22T M,N(O N BRI, SRIE: Saamp = Scomn-



AIIAEIEPE 2021-2022 EFEF R —FHIE = BFFERHEAMES
R Fi% HARA: R I%
LR S A 2. aFiE: 3,06 Btk 30 4t
1.EH Ry = In x7E SN (el ) FITIZ LI M (—1, ©) B EE & KR, LR BEMN N B A2
MR TFER ( )

AlXx—-1D*+y2=1 Bx—-1)2+(@y+1)?%=2 Cx2+y2=2 D.x? +
2
ye=1

2. LB 0 f (o) 1 52 SUBOR D, 25 A2 (1) £ (o) 15 D 149 J2 BV B8 00, (2) 44 46 X 1 [, b 5 () 15
[a, b]_EEIFL B[, 5] 5 4 BEAR BB () 9D _E IR R BB R Hf (o) = 3 — 222
“(0, +00) LUK BB I H ORE R ¢ )

A. (0,2] B. [0,2] C.(0,2)
D.(=2,2)

3. (ZiE) HA+2x)+ (1 +2x)%+ -+ (1 +2x)"=ayg+a;x +ax?+-+
ap,x™(n € N),a; = 42,0 F 34518 4 IR 2 ( )

Aay=6 B.a,_, = 192 CYM,a; = 1092
D.Y™, (-Dlia; = -6

4. (i) HEKITIKABCD — A;B,C;D; 1, FHISE L IEHIHI A ( )
A4BB, = BC, X T AB FAT Z 45 € 1 P #8# D,P L B,C

B. &K T KABCD — AyB,C, D, B K— & E, FYITE L BX A, €, b, BLEF (K Jy 8 48, ) DY T
B, CFEWIABUNEE

CHAB b —EfF(EKP fliIf3PC L D, P

D.WAC, 5°F i ABCD . “F-1Hi ABB, Ay “F I ADD, Ay BT 5 11 /1 53 3l A a, B,y Ul (cos a +
cos B).cos y <2

S.B%DTFﬁZ—z + z—z =1(a>b>0) E‘J%L‘%?’ﬂiﬂ,&ﬁ%ﬂ%ﬂﬁE‘JE\ S N AR
WA I —N 3l L3 A AR F, AT E A2 B KN 1,og)y, (a +¢) = .

6. LA K Tx I AE e > x* + x3(1 + aln x) 7E (1, +o0) & 185 %57, W) 52 % a 7 B AR YE FE &



TAMIC: S~ % = 1(a > 0,b > 0)I/£ WAUHA A £UNF, Bl e = 2,
(L) BEATF R ALABIRE — ST LR B B 4 19 Pl SRS
(2)ict 15 F LA S5l T4 ) BRSO 20T M, NG A4,
OTRAMIES— R, B ELMFAIELMAN R A5 A, BB = % Ra;

@:KMA - NA.



